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Find the LCD of the following rational equations:
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Solve algebraically the following rational equations. Stat
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Secondary III Unit 4 Review

19. A restaurant has two pastry ovens, one large and one small. When both
ovens are used, it takes about 3 hours to bake the bread needed for the day.
When only the large oven is used, it takes about 4 hours to bake the bread for the
day. About how long would it take to bake the bread for the day if only the small
oven were used?
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Review Questions:

20. Given the zeros x=-1 and 3(multiplicity 2), write a function in factored form.

21. Describe the end behavior of f(x) using limits as X — = andas x=— 2
f(x)= x(4x =1 (x+ 3)*




